

УДК 517.5

B. V. VYNNYTS'KYI, R. V. KHATS'

**ON ASYMPTOTIC BEHAVIOUR OF ENTIRE FUNCTIONS
OF ORDER LESS THAN ONE**

B. V. Vynnyts'kyi, R. V. Khats'. *On asymptotic behaviour of entire functions of order less than one*, *Matematychni Studii*, **19** (2003) 97–105.

For an entire function L of order $\rho \in (0; 1)$ conditions on zeros under which $\ln |L(re^{i\varphi})| = \frac{\pi\Delta}{\sin \pi\rho} r^\rho \cos \rho(\varphi - \pi) + O(1)$, $z = re^{i\varphi} \rightarrow +\infty$, $z \notin E$, are found.

Б. В. Винницький, Р. В. Хаць. *Об асимптотическом поведении целых функций порядка меньше единицы* // *Математичні Студії*. – 2003. – Т.19, №1. – С.97–105.

Для целой функции L порядка $\rho \in (0; 1)$ найдены условия на нули, при которых $\ln |L(re^{i\varphi})| = \frac{\pi\Delta}{\sin \pi\rho} r^\rho \cos \rho(\varphi - \pi) + O(1)$, $z = re^{i\varphi} \rightarrow +\infty$, $z \notin E$.

It is well known [1, 2], an entire function L of order $\rho \in (0; +\infty)$ is of completely regular growth in the sense of Levin-Pfluger if there exists a sequence (r_n) such that

$$0 < r_n \uparrow +\infty, \quad r_{n+1}/r_n \rightarrow 1, \quad n \rightarrow \infty, \tag{1}$$

and

$$\ln |L(r_n e^{i\varphi})| = r_n^\rho h(\varphi) + o(r_n^\rho), \quad n \rightarrow \infty, \tag{2}$$

uniformly in $\varphi \in [0; 2\pi]$, where $h(\varphi)$ is the indicator of L .

Many authors [3–9] were studying subtler asymptotics. In [4, 5] a two-member asymptotics

$$\ln |L(re^{i\varphi})| = r^\rho h(\varphi) + r^{\rho_1} h_1(\varphi) + o(r^{\rho_1}), \quad r \rightarrow +\infty \tag{3}$$

is considered in the case $0 < \rho_1 < \rho < +\infty$. Here we obtain some results in the case of $\rho_1 = 0$. In particular, we prove the following propositions.

Theorem 1. *Let $0 < \rho < 1$, $0 < \Delta < +\infty$, $0 < \alpha < 1$ and $\lambda_k = \left(\frac{k - \alpha}{\Delta}\right)^{1/\rho}$. In order that for an entire L function of the form*

$$L(z) = \prod_{k=1}^{\infty} \left(1 - \frac{z}{\lambda_k}\right) \tag{4}$$

2000 *Mathematics Subject Classification*: 30D15.

Keywords: entire function, conditions on zeros, asymptotic behaviour.

there exists a sequence (r_n) such that

$$0 < r_n \uparrow +\infty, \quad r_{n+1}^\rho - r_n^\rho = O(1), \quad n \rightarrow \infty, \quad (5)$$

and uniformly in $\varphi \in [0; 2\pi]$

$$\ln |L(r_n e^{i\varphi})| = r_n^\rho h(\varphi) + O(1), \quad n \rightarrow \infty, \quad (6)$$

it is necessary and sufficient that $\alpha = 1/2$, where

$$h(\varphi) = \frac{\pi \Delta}{\sin \pi \rho} \cos \rho(\varphi - \pi).$$

Theorem 2. Let $0 < \rho < 1$, $0 < \Delta < +\infty$ and $\lambda_k = \left(\frac{k - \frac{1}{2} + \alpha_k}{\Delta}\right)^{1/\rho}$. If

$$\sum_k |\alpha_k| < +\infty, \quad (7)$$

then for an entire function of form (4) there exist a sequence (r_n) with properties (5) and (6).

An entire function L of order $\rho \in (0; +\infty)$, for which there exists a sequence (r_n) with properties (5) and (6) will be called an entire function of fine regular growth. For example, the function $L(z) = \sin z$ is an entire function of fine regular growth, for which (6) holds with $\rho = 1$, $h(\varphi) = |\sin \varphi|$ (see [8]). The entire functions with such properties are used in studying functions of bounded l -index [3] and some interpolation problems [8]. If a sequence (r_n) satisfies conditions (5) and (6), then it satisfies conditions (1) and (2). Therefore, every entire function of fine regular growth is an entire function of completely regular growth in the sense of Levin-Pfluger.

For the proof of Theorem 1 and 2 we need some lemmas.

Lemma 1. Suppose that (λ_k) is a non-decreasing to $+\infty$ as $k \rightarrow +\infty$ sequence of positive numbers and for some ρ , $0 < \rho < 1$, and $\Delta \in (0; +\infty)$

$$N(r) = \frac{\Delta}{\rho} r^\rho + O(1), \quad r \rightarrow +\infty, \quad (8)$$

where

$$N(r) = \int_0^r \frac{n(t)}{t} dt, \quad n(t) = \sum_{|\lambda_k| \leq t} 1.$$

Then for entire function (4) we have

$$(\exists c_1)(\forall z \in \mathbb{C}) : \ln |L(z)| \leq \frac{\pi \Delta}{\sin \pi \rho} r^\rho \cos \rho(\varphi - \pi) + c_1 \quad (9)$$

and if $\varphi = \arg z \in (0; 2\pi)$ then

$$\ln |L(z)| = \frac{\pi \Delta}{\sin \pi \rho} r^\rho \cos \rho(\varphi - \pi) + \eta(z), \quad (10)$$

moreover (here and so on by c_1, c_2, \dots we denote arbitrary positive constants)

$$(\forall \delta \in (0; \pi/2))(\exists c_3)(\forall \varphi \in (\delta; 2\pi - \delta))(\forall r \geq 0) : |\eta(re^{i\varphi})| \leq c_3.$$

Proof. First, we show that for an entire function (4) equality (10) holds. Let $z = re^{i\varphi}$. We have

$$\ln |L(re^{i\varphi})| = -r \int_0^{+\infty} \frac{(t^2 + r^2) \cos \varphi - 2rt}{(t^2 - 2rt \cos \varphi + r^2)^2} N(t) dt =: I.$$

Using formula (8), we obtain

$$\begin{aligned} I &= -\frac{\Delta}{\rho} r \int_0^{+\infty} t^\rho \frac{(t^2 + r^2) \cos \varphi - 2rt}{(t^2 - 2rt \cos \varphi + r^2)^2} dt + I_1 = \\ &= -\frac{\Delta}{\rho} r^\rho \int_0^{+\infty} u^\rho \frac{(u^2 + 1) \cos \varphi - 2u}{(u^2 - 2u \cos \varphi + 1)^2} du + I_1 = \frac{\pi \Delta}{\sin \pi \rho} r^\rho \cos \rho(\varphi - \pi) + I_1, \end{aligned} \quad (11)$$

where

$$I_1 = r \int_0^{+\infty} O(1) \frac{2rt - (t^2 + r^2) \cos \varphi}{(t^2 - 2rt \cos \varphi + r^2)^2} dt.$$

We have

$$\begin{aligned} |I_1| &\leq c_2 \int_0^{+\infty} \frac{2r^2 t + r(t^2 + r^2)}{(t^2 - 2rt \cos \delta + r^2)^2} dt = \\ &= c_2 \int_0^{+\infty} \frac{(u+1)^2}{(u^2 - 2u \cos \delta + 1)^2} dt = c_3 < +\infty, \quad r \geq 0. \end{aligned}$$

Hence, from (11) we have (10). Now we prove, that function (4) satisfies condition (9). The function

$$\psi(z) = L(z) \cdot f_1(z), \quad f_1(z) = \exp \left(-\frac{\pi \Delta}{\sin \pi \rho} (ze^{-\pi i})^\rho \right),$$

with the natural choice of a holomorphic branch in the angle $\mathbb{C}(-\delta; \delta) = \{z : |\arg z| < \delta\}$ satisfies the condition

$$(\exists c_4)(\forall z \in \mathbb{C}(-\delta; \delta)) : |\psi(z)| \leq c_4 e^{\sigma|z|^\rho}, \quad \sigma > 0.$$

Besides, on the boundary of the angle the function ψ is bounded, that is

$$|\psi(z)| \leq c_1, \quad z \in \partial\mathbb{C}(-\delta; \delta) = \{z : |\arg z| = \delta\}.$$

By the Phragmen-Lindelöf [1] principle we have $|\psi(z)| \leq c_1, z \in \mathbb{C}(-\delta; \delta)$ for all δ small enough. Therefore,

$$|L(z)| \leq c_1 / |f_1(z)| = c_1 \exp \left(\frac{\pi \Delta}{\sin \pi \rho} r^\rho \cos \rho(\varphi - \pi) \right).$$

Hence we obtain (9). □

Lemma 2. *If L is an entire function of fine regular growth of order $\rho \in (0; +\infty)$ with the indicator $h(\varphi)$ then (8) holds with*

$$\Delta = \frac{\rho}{2\pi} \int_0^{2\pi} h(\varphi) d\varphi.$$

Proof. Indeed, we suppose that $L(0) = 1$ and, using the Jensen equality [1]

$$N(r) = \frac{1}{2\pi} \int_0^{2\pi} \ln |L(re^{i\varphi})| d\varphi,$$

we obtain

$$N(r_n) = \frac{r_n^\rho}{2\pi} \int_0^{2\pi} h(\varphi) d\varphi + O(1) = \frac{r_n^\rho \Delta}{\rho} + O(1), \quad n \in \mathbb{N}.$$

For every $r > r_1$ there exists n such that $r_n \leq r < r_{n+1}$. Since N is a non-decreasing function,

$$\begin{aligned} N(r) &\leq N(r_{n+1}) = \frac{r_{n+1}^\rho \Delta}{\rho} + O(1) = \frac{r_{n+1}^\rho - r_n^\rho + r_n^\rho}{\rho} \Delta + O(1) = \\ &= \frac{r_n^\rho \Delta}{\rho} + O(1) \leq \frac{\Delta}{\rho} r^\rho + c_1. \end{aligned}$$

On the other hand,

$$\begin{aligned} N(r) &\geq N(r_n) = \frac{r_n^\rho \Delta}{\rho} + O(1) = \frac{r_{n+1}^\rho - r_{n+1}^\rho + r_n^\rho}{\rho} \Delta + O(1) = \\ &= \frac{r_{n+1}^\rho \Delta}{\rho} + O(1) \geq \frac{\Delta}{\rho} r^\rho - c_2. \end{aligned}$$

Thus, (8) is true. □

Lemma 3. *Let $0 < \Delta < +\infty$, $0 < \alpha < 1$, $0 < \rho < +\infty$ and $\lambda_k = \left(\frac{k - \alpha}{\Delta}\right)^{1/\rho}$. Then*

$$N(r) = \frac{\Delta}{\rho} r^\rho + \left(\alpha - \frac{1}{2}\right) \ln r + \frac{1}{\rho} \left(\alpha - \frac{1}{2}\right) \ln \Delta + \frac{1}{\rho} \ln \Gamma(1 - \alpha) + O\left(\frac{1}{r^\rho}\right), r \rightarrow +\infty.$$

Proof. Let $\lambda_k \leq r < \lambda_{k+1}$. Then $\Delta r^\rho + \alpha - 1 < k \leq \Delta r^\rho + \alpha$. We have

$$\begin{aligned} N(r) &= \sum_{\lambda_m \leq r} \ln \frac{r}{\lambda_m} = \sum_{m=1}^k \ln \frac{r}{\lambda_m} = k \ln r - \ln \prod_{m=1}^k \left(\frac{m - \alpha}{\Delta}\right)^{1/\rho} = \\ &= k \ln r - \frac{k}{\rho} \ln \frac{1}{\Delta} - \frac{1}{\rho} \ln \prod_{m=1}^k (m - \alpha) = k \ln r - \frac{k}{\rho} \ln \frac{1}{\Delta} - \frac{1}{\rho} \ln \frac{\Gamma(1 + k - \alpha)}{\Gamma(1 - \alpha)} = \\ &= k \ln r + \frac{k}{\rho} \ln \Delta - \frac{1}{\rho} \ln \Gamma(1 + k - \alpha) + \frac{1}{\rho} \ln \Gamma(1 - \alpha). \end{aligned}$$

In view of Stirling's formula [1]

$$\ln \Gamma(x) = x \ln x - x - \frac{1}{2} \ln x + \frac{1}{2} \ln 2\pi + \frac{\theta}{x}, \quad |\theta| \leq 3, \quad |x| \geq 2.$$

Therefore,

$$\begin{aligned} N(r) &= k \ln r + \frac{k}{\rho} \ln \Delta - \frac{1}{\rho}(1+k-\alpha) \ln(1+k-\alpha) + \frac{1}{\rho}(1+k-\alpha) + \\ &\quad + \frac{1}{2\rho} \ln(1+k-\alpha) - \frac{\theta}{\rho(1+k-\alpha)} + \frac{1}{\rho} \ln \Gamma(1-\alpha). \end{aligned}$$

The function

$$\begin{aligned} f(x) &= x \ln r + \frac{x}{\rho} \ln \Delta - \frac{1}{\rho}(1+x-\alpha) \ln(1+x-\alpha) + \frac{1}{\rho}(1+x-\alpha) + \\ &\quad + \frac{1}{2\rho} \ln(1+x-\alpha) - \frac{\theta}{\rho(1+x-\alpha)} \end{aligned}$$

on $[\Delta r^\rho + \alpha - 1; \Delta r^\rho + \alpha]$ is increasing, and if $r \rightarrow +\infty$

$$\begin{aligned} f(\Delta r^\rho + \alpha - 1) &= \left(\alpha - \frac{1}{2}\right) \ln r + \frac{1}{\rho} \left(\alpha - \frac{1}{2}\right) \ln \Delta + \frac{\Delta}{\rho} r^\rho + \frac{c_1}{r^\rho}, \\ f(\Delta r^\rho + \alpha) &= \left(\alpha - \frac{1}{2}\right) \ln r + \frac{1}{\rho} \left(\alpha - \frac{1}{2}\right) \ln \Delta + \frac{\Delta}{\rho} r^\rho + \frac{c_2(1 + o(1))}{r^\rho}. \end{aligned}$$

Thus,

$$N(r) = \frac{\Delta}{\rho} r^\rho + \left(\alpha - \frac{1}{2}\right) \ln r + \frac{1}{\rho} \left(\alpha - \frac{1}{2}\right) \ln \Delta + \frac{1}{\rho} \ln \Gamma(1-\alpha) + O\left(\frac{1}{r^\rho}\right), \quad r \rightarrow +\infty.$$

□

Corollary 3.1 If $\lambda_k = \left(\frac{k - \frac{1}{2}}{\Delta}\right)^{1/\rho}$, $0 < \Delta < +\infty$, $0 < \rho < +\infty$, then

$$N(r) = \frac{\Delta}{\rho} r^\rho + \frac{1}{\rho} \ln \sqrt{\pi} + O\left(\frac{1}{r^\rho}\right), \quad r \rightarrow +\infty.$$

Lemma 4. Let $0 < \Delta < +\infty$, $0 < \rho < 1$, and the sequence of positive numbers (λ_k) satisfy the condition

$$N(r) - N(t) = \frac{\Delta}{\rho}(r^\rho - t^\rho) + q(t; r),$$

where

$$q(t; r) = O\left(\max\left\{\frac{1}{t^\rho}; \frac{1}{r^\rho}\right\}\right), \quad (t; r) \in (0; +\infty) \times (0; +\infty). \quad (12)$$

Then we have (10), moreover, for each $c_1 > 0$ the function η is bounded in the region $\mathbb{C} \setminus E$, where $E = \{z : |\arg z| \leq c_1/r^\rho\}$.

Proof. From (12) it follows (8). Therefore, taking into account Lemma 1, the statement of Lemma 4 is sufficient prove for $\{z : |\arg z| < \frac{\pi}{4}\}$. We have

$$\begin{aligned} \ln |L(re^{i\varphi})| &= -\frac{\Delta}{\rho} r \int_0^{+\infty} t^\rho \frac{(t^2 + r^2) \cos \varphi - 2rt}{(t^2 - 2rt \cos \varphi + r^2)^2} dt + \\ &+ \left(N(r) - \frac{\Delta}{\rho} r^\rho \right) r \int_0^{+\infty} \frac{2rt - (t^2 + r^2) \cos \varphi}{(t^2 - 2rt \cos \varphi + r^2)^2} dt + I_2 = \\ &= \frac{\pi \Delta}{\sin \pi \rho} r^\rho \cos \rho(\varphi - \pi) + O(1) + I_2, \end{aligned} \quad (13)$$

where

$$I_2 = r \int_0^{+\infty} \frac{(t^2 + r^2) \cos \varphi - 2rt}{(t^2 - 2rt \cos \varphi + r^2)^2} q(t; r) dt.$$

We have

$$\begin{aligned} |I_2| &\leq \int_0^{+\infty} \frac{|(u^2 + 1) \cos \varphi - 2u|}{(u^2 - 2u \cos \varphi + 1)^2} |q(ur; r)| du \leq \\ &\leq \frac{c_2}{r^\rho} \left(\int_0^{u_1} + \int_{u_2}^{+\infty} \right) \frac{(u^2 + 1) \cos \varphi - 2u}{(u^2 - 2u \cos \varphi + 1)^2} du + \\ &+ \frac{c_2}{r^\rho} \int_{u_1}^{u_2} \frac{2u - (u^2 + 1) \cos \varphi}{(u^2 - 2u \cos \varphi + 1)^2} du \leq \frac{c_3}{r^\rho \sin \varphi} + \frac{c_4}{r^\rho \sin \varphi} \leq c_5, \end{aligned}$$

where

$$u_1 = \frac{1 - |\sin \varphi|}{\cos \varphi}, \quad u_2 = \frac{1 + |\sin \varphi|}{\cos \varphi}.$$

For this reason, from (13) we obtain relation (10). \square

Lemma 5. Let $0 < \Delta < +\infty$, $0 < \rho < 1$, $r_n = (n/\Delta)^{\frac{1}{\rho}}$, $m_L(r) = \min\{L(z) : |z| = r\}$ and $\lambda_k = \left(\frac{k - \frac{1}{2}}{\Delta}\right)^{1/\rho}$, $k \in \mathbb{N}$. Then for the function of form (4) the inequality

$$\ln m_L(r_n) \geq \pi \Delta r_n^\rho \operatorname{ctg} \pi \rho + O(1), \quad n \rightarrow \infty, \quad (14)$$

holds.

Proof. We have

$$\ln |L(r_n)| = \sum_{k=1}^n \ln \left(\frac{r_n}{\left(\frac{k - \frac{1}{2}}{\Delta}\right)^{1/\rho}} - 1 \right) + \sum_{k=n+1}^{\infty} \ln \left(1 - \frac{r_n}{\left(\frac{k - \frac{1}{2}}{\Delta}\right)^{1/\rho}} \right) =$$

$$= \sum_{k=1}^n \ln \frac{r_n}{\left(\frac{k-\frac{1}{2}}{\Delta}\right)^{\frac{1}{\rho}}} + \sum_{k=1}^n \ln \left(1 - \left(\frac{k-\frac{1}{2}}{n}\right)^{\frac{1}{\rho}}\right) + \sum_{k=n+1}^{\infty} \ln \left(1 - \left(\frac{n}{k-\frac{1}{2}}\right)^{\frac{1}{\rho}}\right). \quad (15)$$

Using Corollary 3.1, we obtain

$$\sum_{k=1}^n \ln \frac{r_n}{\left(\frac{k-\frac{1}{2}}{\Delta}\right)^{\frac{1}{\rho}}} = N(r_n) = \frac{\Delta}{\rho} r_n^\rho + O(1), \quad n \rightarrow +\infty. \quad (16)$$

It is easy to show that the functions $\ln(1 - x^\rho)$ and $\ln(1 - x^{-\rho})$ are concave on the intervals $(0; 1)$ and $(1; +\infty)$, respectively. Therefore, as in [10, p.247] we obtain

$$\begin{aligned} \ln \left[1 - \left(\frac{k-\frac{1}{2}}{n}\right)^{\frac{1}{\rho}}\right] &\geq \frac{1}{2} \left\{ \ln \left[1 - \left(\frac{k-\frac{1}{2}+t}{n}\right)^{\frac{1}{\rho}}\right] + \ln \left[1 - \left(\frac{k-\frac{1}{2}-t}{n}\right)^{\frac{1}{\rho}}\right] \right\}, \quad k \leq n, \\ \ln \left[1 - \left(\frac{n}{k-\frac{1}{2}}\right)^{\frac{1}{\rho}}\right] &\geq \frac{1}{2} \left\{ \ln \left[1 - \left(\frac{n}{k-\frac{1}{2}+t}\right)^{\frac{1}{\rho}}\right] + \right. \\ &\quad \left. + \ln \left[1 - \left(\frac{n}{k-\frac{1}{2}-t}\right)^{\frac{1}{\rho}}\right] \right\}, \quad k \geq n+1. \end{aligned}$$

Hence, we can integrate the first of those inequalities with respect to t from 0 to $\frac{1}{2}$,

$$\begin{aligned} \ln \left[1 - \left(\frac{k-\frac{1}{2}}{n}\right)^{\frac{1}{\rho}}\right] &\geq \int_0^{\frac{1}{2}} \ln \left[1 - \left(\frac{k-\frac{1}{2}+t}{n}\right)^{\frac{1}{\rho}}\right] dt + \\ &+ \int_0^{\frac{1}{2}} \ln \left[1 - \left(\frac{k-\frac{1}{2}-t}{n}\right)^{\frac{1}{\rho}}\right] dt = \int_{-\frac{1}{2}}^{\frac{1}{2}} \ln \left[1 - \left(\frac{k-\frac{1}{2}+t}{n}\right)^{\frac{1}{\rho}}\right] dt = \\ &= \int_{k-1}^k \ln \left[1 - \left(\frac{x}{n}\right)^{\frac{1}{\rho}}\right] dx, \quad k \leq n, \end{aligned}$$

and similarly

$$\ln \left[1 - \left(\frac{n}{k-\frac{1}{2}}\right)^{\frac{1}{\rho}}\right] \geq \int_{k-1}^k \ln \left[1 - \left(\frac{n}{x}\right)^{\frac{1}{\rho}}\right] dx, \quad k \geq n+1.$$

From this it follows

$$\sum_{k=1}^n \ln \left[1 - \left(\frac{k-\frac{1}{2}}{n}\right)^{\frac{1}{\rho}}\right] + \sum_{k=n+1}^{\infty} \ln \left[1 - \left(\frac{n}{k-\frac{1}{2}}\right)^{\frac{1}{\rho}}\right] \geq$$

$$\begin{aligned} &\geq \int_0^n \ln \left[1 - \left(\frac{x}{n} \right)^{\frac{1}{\rho}} \right] dx + \int_n^{+\infty} \ln \left[1 - \left(\frac{n}{x} \right)^{\frac{1}{\rho}} \right] dx = \\ &= \rho \Delta r_n^\rho \left\{ \int_0^1 u^{\rho-1} \ln(1-u) du + \int_1^{+\infty} u^{\rho-1} \ln \frac{u-1}{u} du \right\} = \pi \Delta r_n^\rho \operatorname{ctg} \pi \rho - \frac{\Delta}{\rho} r_n^\rho. \end{aligned}$$

Since $m_L(r) = |L(r)|$, from this and using formulas (15), (16) we obtain (14). \square

Proof of Theorem 1. The necessity follows directly from Lemmas 2 and 3, because

$$\int_0^{2\pi} \cos \rho(\varphi - \pi) d\varphi = \frac{2}{\rho} \sin \rho\pi.$$

We prove the sufficiency. We put $r_n = \left(\frac{n}{\Delta} \right)^{\frac{1}{\rho}}$. If $z = r_n e^{i\varphi}$, $|\varphi| \leq \frac{c_1}{r_n^\rho}$ then by Lemma 5

$$\begin{aligned} \ln |L(r_n e^{i\varphi})| &\geq \ln m_L(r_n) \geq \pi \Delta r_n^\rho \frac{\cos \rho\pi}{\sin \rho\pi} + O(1) = \\ &= \frac{\pi \Delta}{\sin \pi \rho} r_n^\rho \cos \rho(\varphi - \pi) - \frac{2\pi \Delta}{\sin \pi \rho} r_n^\rho \left| \sin \frac{\rho\varphi}{2} \sin \frac{\rho}{2}(2\pi - \varphi) \right| + O(1) \geq \\ &\geq \frac{\pi \Delta}{\sin \pi \rho} r_n^\rho \cos \rho(\varphi - \pi) + O(1). \end{aligned}$$

Whence by Lemmas 1 and 4 we obtain the required proposition. \square

Proof of Theorem 2. Let $\lambda_k^* = \left(\frac{k - \frac{1}{2}}{\Delta} \right)^{1/\rho}$ and $L^*(z) = \prod_{k=1}^{\infty} \left(1 - \frac{z}{\lambda_k^*} \right)$. If $r_n = \left(\frac{n}{\Delta} \right)^{\frac{1}{\rho}}$, then

$$\ln |L(r_n)| - \ln |L^*(r_n)| = \sum_{k=1}^{\infty} \ln \left| \frac{\lambda_k - r_n}{\lambda_k^* - r_n} \right| + \sum_{k=1}^{\infty} \ln \frac{\lambda_k^*}{\lambda_k}.$$

Since

$$|\lambda_k^* - r_n| \geq \min \{ |\lambda_k^* - r_{k-1}|; |\lambda_k^* - r_k| \} = O(k^{\frac{1}{\rho}-1}), \quad k \rightarrow \infty,$$

we have

$$\ln \left| \frac{\lambda_k - r_n}{\lambda_k^* - r_n} \right| \geq \frac{- \left| \frac{\lambda_k - \lambda_k^*}{\lambda_k^* - r_n} \right|}{1 - \left| \frac{\lambda_k - \lambda_k^*}{\lambda_k^* - r_n} \right|} \geq -2 \left| \frac{\lambda_k - \lambda_k^*}{\lambda_k^* - r_n} \right| \geq -c_1 |\alpha_k|, \quad k \geq k_0;$$

and

$$\ln \frac{\lambda_k^*}{\lambda_k} \geq -\frac{\lambda_k - \lambda_k^*}{\lambda_k^*} \geq -c_2 \frac{|\alpha_k|}{k} \geq -c_2 |\alpha_k|, \quad k \geq k^*.$$

Therefore by Lemma 5

$$\ln m_L(r_n) \geq \pi \Delta r_n^\rho \operatorname{ctg} \pi \rho + O(1), \quad n \rightarrow \infty.$$

Further,

$$\begin{aligned} \sum_{\lambda_k \leq r} \ln \frac{r}{\lambda_k} - \sum_{\lambda_k \leq r} \ln \frac{r}{\lambda_k^*} &= \sum_{\lambda_k \leq r} \ln \frac{\lambda_k^*}{\lambda_k} = -\frac{1}{\rho} \sum_{\lambda_k \leq r} \ln \left(1 + \frac{\alpha_k}{k - \frac{1}{2}} \right) = \\ &= d_0 + \frac{1}{\rho} \sum_{\lambda_k \geq r} \ln \left(1 + \frac{\alpha_k}{k - \frac{1}{2}} \right) = d_0 + \frac{1}{\rho} \sum_{\lambda_k \geq r} \frac{\alpha_k}{k} + O \left(\sum_{\lambda_k \geq r} \frac{1}{k^2} \right) = \\ &= d_0 + \frac{1}{n(r)} \sum_{\lambda_k \geq r} |\alpha_k| + O \left(\frac{1}{r^\rho} \right) = d_0 + O \left(\frac{1}{r^\rho} \right), \quad r \rightarrow +\infty, \end{aligned}$$

where

$$d_0 = -\frac{1}{\rho} \sum_{k=1}^{\infty} \ln \left(1 + \frac{\alpha_k}{k - \frac{1}{2}} \right).$$

Furthermore,

$$\sum_{\lambda_k \leq r} \ln \frac{r}{\lambda_k^*} - \sum_{\lambda_k^* \leq r} \ln \frac{r}{\lambda_k^*} = O \left(\max \left\{ \left| \ln \frac{\lambda_{m+1}}{\lambda_{m+1}^*} \right|; \left| \ln \frac{\lambda_m}{\lambda_m^*} \right| \right\} \right) = O \left(\frac{1}{r^\rho} \right), \quad r \rightarrow +\infty,$$

where m is such that $\lambda_m^* \leq r < \lambda_{m+1}^*$. Therefore, the sequence $\lambda_k = \left(\frac{k - \frac{1}{2} + \alpha_k}{\Delta} \right)^{1/\rho}$ satisfies condition (12). Thereupon, in the same way as in the proof of the sufficiency part of Theorem 1, we obtain the required proposition. \square

REFERENCES

1. Левин Б. Я. Распределение корней целых функций. – М.: Гостехиздат – 1956. – 632 с.
2. Кондратюк А. А. Ряды Фурье и мероморфные функции. – Львов: Вища школа. – 1988. – 196 с.
3. Бордуляк М. Т., Шеремета М. Н. *О существовании целых функций ограниченного l -индекса и l -регулярного роста* // Укр. мат. ж. – 1996. – №48, №9. – С. 1166–1182.
4. Логвиненко В. Н. *О целых функциях с нулями на полупрямой. I* // Теория функций, функц. анализ и их приложения. Харьков. – 1972. Вып. 16. – С. 154–158.
5. Агранович П. З., Логвиненко В. Н. *Аналог теоремы Валирона-Титчмарша для двучленных асимптотик субгармонической функции с массами на конечной системе лучей* // Сиб. мат. ж. – 1985. – Т.26, №5. – С. 3–19.
6. Заболоцкий Н. В., Шеремета М. Н. *О медленном возрастании основных характеристик целых функций* // Матем. заметки. – 1999. Т. 65, №2. – С. 206–214.
7. Винницкий Б. В. *Об эквивалентности некоторых условий для целых функций нулевого порядка* // Изв. вузов. Математика, 1991. – №2. – С.193–196.
8. Леонтьев А. Ф. Целые функции. Ряды экспонент. – М.: Наука. – 1983. – 176 с.
9. Гольдберг А. А., Островский И. В. Распределение значений мероморфных функций. – М.: Наука. – 1970. – 591 с.